F18EEABIME P ERBERE RS

#AR:2023%6A17H

FREB—ER

S AR EH A EE RIS
HH FEd 14z 201 3fi1 441 5{i1 641 141 8{s
o1 1EBF 100 Eamﬂ%ﬂ BEth(1) 1$ '35 ?rﬁg A1) 1357 Eﬁg E7NQ)) 13”61 “m%l () 14”10 ﬁtE EH() 14717 WE &A1) 14763|; ﬁmé: EE() 15739
7 m| = 15 E 72 | B = =y = =y =
-0.4 EXAR el E@G EH4 £ EXAE E@HP
ZEREING) 514”630 &A1) 5'20"93|FEBFEA() 527775
6/17 1500m | =i 2R (= B
EXAB S EXAE _EMET
2568 F INEFEKERN2) 12795 %Jﬁ EEQ2) 13"92| 5%t RKEE(2) 14739
6/17 100m| =% = B
+0.2 E@$ H SB[
B #EQ 4'25769(# 7T %”( 444708|% . RIBQ) 456”76
6/17 1500m | =% 1ZE (=5 1Z3E =5
EXAE - ____FXfEs - B L - - -
617 IERF 100 EE EZAQ) 11767 :tE FEQ) 11 Z;g /l\mfgﬁ FEQ) 12714 :tg HERQ) 12748 @Jﬁa BEZ(3) 14736
m|E 228 = IA 22| = = =05
—04 Hgr EXAB EM@c EHH EHmH
ZR %TE(a) 4'27766|/NE FK(3) 440"04| HFNIEEQR) 540709
6/17 1500m | =& 1ZE (=5 =
EXAB G A% EMEG ]
HEBEBF B ZAG) 23;33 TE REQ 24;35 NEIRKERQ) 26728/ LA RR(@) 28739541 BE(2) 20727[80 &) 29"76]FF A=) 33741
6/17 298? =I5 = E EE (= e ER | =5 = =) - =] e =) =@ =I5 =
6/17 400 Em%ﬁ —iM@3) 55”4;2 i‘cﬁ ER®Q) 5;”2 :l:m}liﬂ E36) 101701 chui‘fiﬂmﬁm 105793 Em: A=EQ) 116781
m| =i =R | = Z %8 | =I5 =y =
BB+ ~ _ EXAE _ Bl _ EHH _ E@EG
6/17 800 E@ EE(2) 204721 mu? E72(2) 2'13 7;2 /l\% K@) 2'1;1 00 %ﬂéﬁ 3 200) 217739
m| = I 228 | = 22| = 228 | =i
__ EKfEe EXAR BEZEG EHT
AR FRMEG) 1059754|HFJIMEEB) 1135788
6/17 3000m| =15 =ik
53] =H
TH HEREO) 18784[3EE 'L\(s) 19”18|#A L T2 () 20725
6/17 110mH| =15 = =
+0.3 EM@G EXAB EHmH
KB 46702|ZE P 46706
RiE ER@O) 2| @il 820) =
6/17 4x100mR| B —iM3) Bm ZAQ)
1:* J_i’rE(g) :JI:EEI E-EE%
ERES I\ E
BEFXFEEF ﬂuﬁ‘% NG 19796 £ &EHi(1) 20779 =EIR(1) 23753
6/17 100mH | = I = =T
1.3 5N ela EHH EHmH
KRB 50780 & H 51751
Wi B722(2) 12| it w2 iz
6/17 4x100mR| Hf Bth(1) BmHF =K30)
RHE A1) R RRIE (1)
B omEQ INEIEKRER2)
HEBEF B #h3) 1m30[;AEF ZiK(3) 1m20|FF 2 T E&HE) 1m15
6/17 EE k| =iE = =
__=H EMHT EXAE ch
IR EE) 5m79[fAl E() 4ma7[ATE FIKQ) 4m08|F X FEHE() 3m26
6/17 E g Bk %‘E -0.1|= = -0.2| =5 = e +0.5| =i i +0.3
=M z H =l
Tk ER%Q) 10mO3[[EE #HE®) 9m79
6/17 ZER k| =i -0.5| = +1.0
ERAR G EXAE &
[HE $HEQ) 11mO03| &L #3th(3) 8mb9|(BElfE EZ(3) 5m00
6/17 A % | =i =22 =I5 T8 (=I5
ERAB EHG EZM@G

1/2




F18EEABIME P ERBERE RS

#AR:2023%6A17H

RFREB—ER

S AR EH A EE RIS
HH FEd 14z 201 3fi1 441 5{i1 641 141 8{s
1EL&F ’E ZB&HW 14702[{ZK (1) 14724KA B 14 68 HFEEBFXRPA) 14773| M0k FIE() 14794| et =il (1) 15746 1LLA L#E5(1) 15”56| A ER(X) 15792
6/17 100m| =% ExE =5 T8 =ik T 20| B ER(ZiE =] = =1
-04 E@AG 15,9 ke EMG EH4 e EXAE EXAE Eliles
;A EEW 2'32754|thFf EiD(1) 258"02|1RE ZE&A() 302771
6/17 800m | =& 1ZE (=5 =]
BEP EXAE __EHE™
2HE&F ZTREZEFRQ2) 13715|mMA—B#&3(2) 13798(4ML EF(2) 147061178 ER3PI(2) 14”87/ R E(2) 15"34| A REM#F(2) 15747\t 5 F13FQ) 15"68| F @ #EZE(2) 16793
6/17 100m| =15 1ZE (=5 ey = = = = =
+0.4 =M@ E@A+ EXAE EXAE & Je4E/v e s E@AG B FE B/
A ZI(2) 2'36”98(;aI % RA(2) 2'43764
6/17 800m | =& =2 | IE
He EHS
SELF JI %E(s) 13"38 BE —E@Q) 14769[)IIO &F®) 15722[=8% & 16721
6/17 100m| =& Z 22| =I5 = =
+0.0 EXAE Je4E/h e _ngEEP EXAE &
e =50) 2'29"12|fER Z%(3) 237745 R ILEE(3) 313729
6/17 800m | =& 1ZE (=5 22 S
__EMlS EXAE EXAB G
HELF NEEEEEI6) 27733 ERESTXR(Q) 27795| &Il HR(©2) 29760(% H HHEX(2) 30737
6/17 200m | =15 ExE | =5 ER | =5 =]
-0.1 AR e =H EMHm EH
e =50Q) 529796 (iR = 4(3) 540799 (A ZH(2) 5'43789[# P ILIBE (@) 647753
6/17 1500m| =& 1ZE (=5 BE =
EMEG __ R __EMld EXAE G
JAH IH:‘(S) 18725|&MA BEX) 21742|kR HEA) 22748
6/17 100mH | = 15 =1 B
0.8 EXAE EXAE EXAE
ZHT 53”35|8kAE 56" 15| & fE B 1'02"49| BB EV/NF 104764
B2 %%*(3) Zzel Il =E0) hnegk %@;(1) L ¥ ()
6/17 4x100mR| Il #HR AEBEMEQR) Bt BE =mE Fpl)
mA— EHE R 2350) M%Eﬂffmﬁa(z) FriE EREE(1)
i BElk(2) JIs ZEH(3) _ R(1) | HEBHER)
BFExF Tl HRQ) 14 22 st E3(2) 14765 E:Eé?é HE%B(Z) 15754 ILA EHE(1) 16782
6/17 80mH|= I T2 HiE = =
+1.0 E@HP EXAE EMAG EXAE &
ZHF 54" 30|EXAE 56774
A ZH(2) 22| T BRW(2) B3
6/17 4x100mR| FHHEEKLA) 1=K DP)
’E _BHA) At Ei()
FREZXRQ) st B2
HELF AEBEMEO) 1m30[/11O0 ZEQ) 1m30|ZH #HE(2) 1m15|=% HEAR(2) IEHES 2T 6) Tm10[AI%F  BA(2) 1m10
6/17 EE Bk | =5 28| =i EE(ZiE = =i =]
EXAE EXAE & EMEG EHH ERAEh EMHT
HE J\EQ) 3m77 9& ZFi(3) 3m55 | IETEC3) 3m53|€ M@ EBE() 3m20|ZH #$E(2) 3m08| S FFE(2) 2m95
6/17 FENE B | =i +0.6| B I +0.1 (=5 +0.6| B -0.5| =8 +0.3| =i +0.4
__E@d EXAE ERAE EXAE E@EG EHS
=8 ®BEQ) 9m65| AT JETE(3) 8m21[ILE HE®Q) Tm42| B —H®&3(2) 6mb57
6/17 ik = Z 22 (=i Z 22 (=i =
EXAE & ER AR b ol EHT

2/2




